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QUEST2BBEST.COM

SINGAPORE  PRIMARY MATHEMATICS

PLACEMENT TEST 6B

	Name: 
	
	
	
	   Marks: ____ / 100

	Date:
	
	
	
	

	Section A ( 30 Marks )

Questions 1 to 15 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided.



	1.
	The value of 24 + 3 ( 5 – 56 ( 4 is ____________.

(1) 25

(2) 53

(3) 79

(4) 121
	(        )



	2.
	If                                             =  55, then                    =  __________.

(1) 11

(2) 22

(3) 33

(4) 44


	(         )

	3.
	In 34.651, the digit ‘5’ is in the ________ place.

(1) ones

(2) tenths

(3) hundredths

(4) thousandths
	(          )

	4.


	Write  82 +
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100

9

+

 as a decimal. 

(1) 82.97
(2) 82.907
(3) 82.097
(4) 82.0907

	(          )


	5.
	Find the shaded area of the circle in terms of (.

(1) 256 ( cm2
(2) 128 ( cm2
(3) 64 ( cm2
(4) 32 ( cm2
	(           )


	6.
	The value of x is ________.

(1) 60(
(2) 270(
(3) 300(
(4) None of the above
	(           )

	7.
	Which of the following is the best estimate for 89 ( 32?

(1) 27 000

(2) 2 700

(3) 270

(4) 27


	(           )

	8.
	Alan’s height is 
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 of Ben’s height.  The ratio of Ben’s height to Gerard’s height is 6 : 5.  Find the ratio of Gerard’s height to Alan’s height.

(1) 2 : 5

(2) 3 : 5

(3) 4 : 5

(4) 5 : 4


	(           )

	9.
	Kelly spent 25% more than what Anna spent.

If Kelly spent $400, how much did Anna spend?

(1) $320

(2) $420

(3) $325

(4) $375


	(           )

	10.


	Tom has $25. Alan has 
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 as much as Tom. What is the average amount of money they have?

(1) $7.75

(2) $18.75

(3) $25.50

(4) $35.50


	(           )


	11.
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 + 
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 + 
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 + 
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 =                   ( 
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The missing number in the box is ________.

(1) 18

(2) 6

(3) 3

(4) 2


	(           )

	12.
	A pen costs $x and a pencil cost 
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 as much.

Find the cost of 5 pens and 4 pencils.

(1) $5x
(2) $5
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x
(3) $6x
(4) $9x

	(           )

	13.
	4 dozens eggs cost $z. What is the cost of half dozen such eggs?

(1) $
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z


(2) $
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(3) $
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(4) $
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	(           )


	14.
	 Simplify 11a – 2 – 7a + 16
(1) 4a + 9
(2) 4a + 14 

(3) 17a + 14

(4) 17a – 18

	(           )

	15.


	Two rectangular tanks A and B have the same lengths and breadths.  However, their heights are 21 cm and 14 cm respectively.  What is the ratio of the volume of Tank A to that Tank B?

(1) 21 : 14

(2) 14 : 21

(3)  7 : 1

(4) Non of the above


	(           )


	Section B ( 40 marks )

Questions 16 to 35 carry 2 marks each. For each question, write the answer on the space provided.


	16.
	In 91.453, the value of the digit ‘3’ is equal to 3 ( _________.
(Give your answer in fractions)




	17.
	If  z = 5, find the value of   
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	18.
	11 ( 23 = 23 + 23 + 23 +                    ( 23

What is the value in the box?

  



	19.
	The pie chart shows the proportion of animals in a section of a zoo.










There are as many penguins as owls. 

What fraction of the animals consists of owls?

(Express your answers in lowest terms)



	20.
	The volume of a cube is 576 cm3.  If its base area is 64 cm2, find its height.




	21.
	Express 48.7 m as a percentage of 1 km.



	22.
	A car traveled 180 km in 2 hours.  It traveled another 3 hours at 75 km/h .  Find the average speed for the whole journey.






	23.
	Benny and his 2 friends sold 320 charity tickets each.  Jane and her 3 friends sold 440 charity tickets altogether. What is the average number of tickets sold by each of them?


	24.
	Peter and Pamela shared a sum of money in the ratio 3 : 5.  If Pamela were to give Peter $24, both would have the same amount of money.  How much did Peter have at first?





	25.
	Mrs. Kelly used 
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of the flour to make a pie and 
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 of the remaining flour to bake a cake. What fraction of the flour was left?





	26.
	Ben ran around the track of a garden 3 times.  What was the distance that he had run? (Take ( = 
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)





	27.
	How many lines of symmetry are there in the figure of the running track in Question 26?




	28.
	If y = 7, find the value of  43y – 2y2.




	29.
	Damien bought a laptop for $2599.  The deposit was $1000, and he paid a monthly installment of $97 over 18 months.

How much interest did he pay after 18 months?




	30.
	I am 18 years old.  In 10 year’s time, my aunt will be twice my age.  How old is my aunt now?





	31.
	The sum of 3 consecutive even numbers is 48.  Find the largest of these 3 numbers.




	32.
	The total cost of 4 books is $24.  If I were to buy 2 more books that cost $4.50 each, find the average cost of the 6 books.




	33.
	There are 3.25 liters of water in the container as shown below.  How much more liters of water must be added to make it 
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 full?  (1 liter = 1000 ml)







	
	

	34.
	ABDE is a parallelogram, BE is perpendicular to ABC, where ABC is a straight line.  Find the value of angle AEB.








	35.
	Find the area of the shaded part in the figure below. (Take ( = 
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	Section C ( 30 marks )

Questions 36 to 40 carry 6 marks each. For each of the following problem sum, show your work clearly in the space provided.



	36.
	An empty rectangular tank contains 4 identical cubes with sides 5 cm. The tank is then filled with water to a height of 20 cm.

(a) Find the volume of water in the tank. (3 m)

(b) Given that the height of the tank is 25 cm, how many more cubes must be added so that the water level touches the brim? (3 m)














     










        30 cm




	37.
	A truck set off from Town A to Town B traveling at an average speed of 48 miles/hr. It reached the town in 50 minutes. A car set off at a later time from Town B to Town A at an average speed of 60miles/hr and reach Town B at the same time as the truck. 

Find: a) The distance between Town A and B. (2 marks)

         b) How much earlier did the truck set off than the car? (4 marks)


  




	38.
	Mr. Gray had apples and pears in the ratio 8:5.  He sold 195 apples and the ratio of the number of apples to the number of pears became 5 : 8. 

Find

(a) the number of pears Mr. Gray had (4 m);

(b) the number of apples he had at the beginning. (2 m)




	39.
	The ratio of the number of boys to the number of girls in an enrichment class was 3 : 5.  In the first year, when 15 boys joined the class, there was a 50% increase in the number of boys.  In the second year, some more children joined the class and the enrolment of the enrichment class increased by another 40%. 

Find the overall increase in the number of children for the 2 years. (6 m)



	40.
	Erica’s age is 
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 her mother’s age.  Her mother will be 48 in 12 years’ time.  

(a) What is Erica’s present age? (2 m)

(b) In how many years’ time will Erica’s age be 
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 her mother’s age?  (4 m)
 
  



	41.
	*Bonus Question*

Find the sum of 1+2+3+4+5+6+…..96+97+98+99+100.

(Hint: You do NOT need to add up the numbers one by one!) 
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Answer Key

	Q1
	1
	Q11
	4
	Q21
	4.87%
	Q31
	18
	Q38b
	320

	Q2
	2
	Q12
	3
	Q22
	81km/h
	Q32
	$5.50
	Q39
	37

	Q3
	3
	Q13
	2
	Q23
	200


	Q33
	0.95l
	Q40a
	12

	Q4
	3
	Q14
	2
	Q24
	$72
	Q34
	25°
	Q40b
	12

	Q5
	4
	Q15
	1
	Q25
	1/4
	Q35
	112cm²
	Q41
	5050

	Q6
	3
	Q16
	1/1000
	Q26
	2km160m
	Q36a
	8500cm3
	
	

	Q7
	2
	Q17
	9
	Q27
	2
	Q36b
	18
	
	

	Q8
	4
	Q18
	8
	Q28
	203
	Q37a
	40 miles
	
	

	Q9
	1
	Q19
	1/8
	Q29
	$147
	Q37b
	10mins
	
	

	Q10
	2
	Q20
	9cm
	Q30
	46
	Q38a
	200
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